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|_w > max{ch2_1)
[1] 97

library(prettyR)

ch2\l<-scan("http://kanggc.iptim ook/data/ch
ch2_1

max(ch2_1)

min(ch2_1)

mean(ch2_1)

median(ch2_1)

summary(ch2_1)

table(ch2_1)

max(table(ch2_1))

w > min{chZ2_1)
[1] 12
v = mean{ch2_1)
[1] 64.76
v = median{ch2_1)
[1] &5
= summary(chZ_1)
Min. 1st qQu. Median Mean 3rd Qu. Max.
— 12.00 48,25 B853.00 64,76 84,50 a7 .00

= max{table(ch2_1))

= table(ch2_1)[table(ch2_1)==max{tablel(ch2_1))]
| —» B85

_ 3
table(ch2_1)[table(ch2_1)==max(table(ch2_1))] /

Mode(ch2_1) )

= tablel(chz_1)
chz_1

‘—_““‘—————_______> = Mode(ch2_1)

[1] "85"

12 21 24 31 33 35 36 43 44 46 47 48 49 51 54 60 61 62 64 65 69 72 74 76 77 78 81 83 85 86 88 B9 91 95 96 97

i11 111111 2 11 2 1 2 2 1

21 21 2 2 1 11 2 1 3 1 1 2 1 1 2 2
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AHOIM AL
diff(range(ch2_1))
(dev<-ch2_1-mean(ch2_1))
devsg<-dev"2)

(
(variation<-sum(devsaq))
(

variance<-variation/(length(ch2_1)-1))
var(ch2_1)
sd(ch2_1)

= diff({range(ch2_1))
[1] 85
= {dev<-chz_1-mean(chz2_1))

[1] Q.24 9. 24 0.24 -28.76 16.24 -4.76 -21.76 -43.76 18.24 -0.76 -532.76 26.24 -4.76 -40.76 -10.76 4.24 24,24 31.24
[19] 21.24 20.24 30.24 20.24 -13.76 16.24 -17.76 -2.76 20.24 -18.76 -15.76 11.24 -20.76 7.24 -31.76 -18.76 -15.76 9,24
[37] 13.24 -16.76 -2.76 32.24 -33.76 31.24 32.24 23.24 -3.76 -10.76 24.24 12.24 7.24 -29.76
= (devsgz-devr)

[1] Q.0576 83. 3776 0.0576 B27.1376 263.7376 22.6576 473.4976 1914.9376 332.6976 0.5776 2783.6176 688.5376
[13] 22.6576 1661. 3776 115.7776 17.9776 5B7.5776 975.9376 451.1376 409.6576 914.4576 409.6576 1B89.3376 263.7376
[25] 315.4176 7.6176 409.6576 3531.9376 248.3776 126.3376 430.9776 52.4176 1008.6976 351.9376 248.3776 85,3776
[37] 175.297& 280.8976 7.6176 1039.4176 1139.7376 975.9376 1039.4176 540.0976 14.1376 115.7776 587.5776 149.8176
[49] 52.4176 BE5.6576
= (variation=-sum{devsqg))

[1] 24053.12

= {(wariance<-variation/{length{chz_1)-1))
[1] 490. 88

= var(chz_1)

[1] 490.88

= sd(ch2_1)

[1] 22.15581
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bins<-c(0, 12, 24, 36, 48, 60, 72, 84,
class<-cut(ch2_1, breaks=bi
table(class) r
table(class)/length(ch2_1
transform(table(class), Rel_Freq=prop.table(Freq))
par(mfrow=c(1,

hist(ch2_1)

hist(ch2_1, breaks=bins, main="Test Scores", xlab="Score")

1
2
3
4
5
a
7
&

= ch2_1
[1] 65 74 &5 36 81 60 43 21 83 64 12 91 60 24 34 69 89 96 85 85 95 B85
[43] 97 88 61 54 89 77 72 35
7= class<-cut{ch2_1, breaks=bins)
= Class

[1] (80,72] (72,84] (&0,72] (24,36] (72,84] (48,60] (36,48] (12,24] (72,84] (60,72] (D,12]
[16] (60,72] (84,971 (84,97] (84,97] (84,97] (84,97] (B4,97] (48,60] (72,84] (36,48] (B0,72] (84,97] (36,48]

= table(class

Histogram of ch2_1 Test Scores

ch2_1

> > table(class)
class
(0,12] (12,24] (24

6] (36,48] (48,60] (60,72] (72,84] (84,97]
1 4 a 7 9 a8 13
ength{ch2_1)}

2,247 (24,38] (36,48] (48,60] (60,72] (72,84] (84,97]
0.04 0.08 0.12 0.14 0.18 0.16 0.26

transform(tablelclass), Rel_Freg=prop.table(Freq))
class Freq Rel_Freq
(0,12] .02

(12,24] .04

({24,36] .08

({36,48] i

(48,60] .14

(60,72] .18

(72,84] .16

(84,97] 1 .20

51 81 47 62 85 46 49 76 44 72 33 46 49 74 78 48 62 97 31 96

(84,971 (48,80] (12,24] (48,60]
(48,680] (72,84]

[31] (36,48] (60,721 (24,36] (36,48] (48,60] (72,841 (72,84] (36,48] (60,72] (B4,97] (24,36] (84,97] (B4,97] (84,97] (60,72]

[46] (48,60] (84,971 (72,84] (60,72] (24,36]
Levels: (0,12] (12,24] (24,36] (36,48] (48,60] (60,72] (72,84] (84,97]
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a<-c(10, 2, 19, 24, 6, 23, 47, 24, 54, 77)

n<-length(a)

mean(a)
1/mean(i/a)
prod(a)™(1/n)

b<-c(30,60)
mean(b)
1/mean(1/b)

c<-c(120,130,118)
m<-length(c)
round(mean(c),digits=2)

round(prod(c)™(1/m),digits=2)

9<-((9204/5000)"(1/3))*100
round(g, digits=2)
9<-((9204/5000)"(1/3)=1)*100
round(g, digits=2)

= mean(a)
[1] 28.6

_ = 1/mean(1l/a) # compute the harmonic mean

" [1] 10.01109

= prod{a)safl/n) # compute the geometric mean
[1] 18.92809

= b=-c(30,60)
= mean(b)

» [1] 45
= 1/mean(1,/b)
[1] 40

> C<-c(120,130,118)
= m<-length{c)
= round{mean(c),digits=2)

[1] 122.67
= round(prod(c)A(l/m),digits=2)
[1] 122.56

= g=-([9204/50000A(1,/3))%100
= round(g, digits=2)

_ [1] 122.56

To» ge-([9204,/3000)A(1,/3)-1)%100

= round(g, digits=2)
[1] 22.56




